## Article

# Several Symmetric Identities of the Generalized Degenerate Fubini Polynomials by the Fermionic $\boldsymbol{p}$-Adic Integral on $\mathbb{Z}_{p}$ 

Maryam Salem Alatawi ${ }^{1}$ (D) Waseem Ahmad Khan ${ }^{2, *}$ (D) and Ugur Duran ${ }^{3}$ (D)<br>1 Department of Mathematics, Faculty of Science, University of Tabuk, Tabuk 71491, Saudi Arabia; msoalatawi@ut.edu.sa<br>2 Department of Mathematics and Natural Sciences, Prince Mohammad Bin Fahd University, P.O. Box 1664, Al Khobar 31952, Saudi Arabia<br>3 Department of Basic Sciences of Engineering, Faculty of Engineering and Natural Sciences, Iskenderun Technical University, Hatay 31200, Turkey; ugur.duran@iste.edu.tr<br>* Correspondence: wkhan1@pmu.edu.sa

Citation: Alatawi, M.S.; Khan, W.A.; Duran, U. Several Symmetric Identities of the Generalized Degenerate Fubini Polynomials by the Fermionic $p$-Adic Integral on $\mathbb{Z}_{p}$. Symmetry 2024, 16, 686. https:// doi.org/10.3390/sym16060686

Academic Editor: Michel Planat
Received: 1 May 2024
Revised: 22 May 2024
Accepted: 30 May 2024
Published: 3 June 2024


Copyright: © 2024 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).


#### Abstract

After constructions of $p$-adic $q$-integrals, in recent years, these integrals with some of their special cases have not only been utilized as integral representations of many special numbers, polynomials, and functions but have also given the chance for deep analysis of many families of special polynomials and numbers, such as Bernoulli, Fubini, Bell, and Changhee polynomials and numbers. One of the main applications of these integrals is to obtain symmetric identities for the special polynomials. In this study, we focus on a novel extension of the degenerate Fubini polynomials and on obtaining some symmetric identities for them. First, we introduce the two-variable degenerate $w$-torsion Fubini polynomials by means of their exponential generating function. Then, we provide a fermionic $p$-adic integral representation of these polynomials. By this representation, we derive some new symmetric identities for these polynomials, using some special $p$-adic integral techniques. Lastly, by using some series manipulation techniques, we obtain more identities of symmetry for the two variable degenerate $w$-torsion Fubini polynomials.


Keywords: degenerate Fubini polynomials; degenerate $w$-torsion Fubini polynomials; fermionic $p$-adic integral on $\mathbb{Z}_{p}$; symmetric identities

MSC: 05A19; 05A40; 11B83

## 1. Introduction

With the construction and introduction of the fermionic $p$-adic integral cf. [1,2], it is utilized for not only integral representations of many special numbers, polynomials, and functions but also for providing a chance for deep analysis of many families of special numbers and polynomials, such as Euler, tangent, Boole, Genocchi, Changhee, FrobeniusEuler, Fubini, polynomials and numbers, cf. [2-17]. One of the most useful aims of the fermionic $p$-adic integral (abbreviated with "f.p-a.i.") is to acquire more formulas and properties of the special numbers and polynomials. In the last ten or more years, by utilizing the fermionic $p$-adic integrals on $\mathbb{Z}_{p}$, symmetric identities of some special polynomials, such as $w$-torsion Fubini polynomials in [11], $q$-Frobenius-Euler polynomials under $S_{5}$, the symmetric group of degree five in [4], $q$-Genocchi polynomials of higher order under $D_{3}$ in [3], $(h, q)$-Euler polynomials under $D_{3}$ in [6], Carlitz's-type twisted ( $h, q$ )-tangent polynomials in [7], degenerate $q$-Euler polynomials in [12], and Fubini polynomials in [15], have been studied and investigated in detail. By means of the $p$-adic integrals, several special techniques and methods have been used to obtain symmetric identities, where these identities include and generalize many special well-known formulas and properties for the polynomials, such as Raabe formulas, extended recurrence formulas, Miki identity, Carlitz identities, and many other identities for the polynomials. By these motivations, in this study,
we focus on a novel extension of the degenerate Fubini polynomials. First, we introduce the two variable degenerate (abbreviated with "t.w.d.") $w$-torsion Fubini polynomials by their exponential generating function. We then provide a $f . p$-a.i. representation of the degenerate $w$-torsion Fubini polynomials, by which we acquire diverse novel symmetric identities for the degenerate $w$-torsion Fubini polynomials. Lastly, by using some series manipulation methods, we obtain more identities of symmetry for properties of the t.w.d. w-torsion Fubini polynomials.

Along this work, the following notations hold for $p$ be a fixed odd prime number: $\mathbb{Z}_{p}$ denotes the ring of $p$-adic integers, $\mathbb{Q}_{p}$ denotes the field of $p$-adic rational numbers, and $\mathbb{C}_{p}$ denotes the completion of the algebraic closure of $\mathbb{Q}_{p}$. The normalized $p$-adic norm is provided by $|p|_{p}=p^{-1}$. For a continuous function $g: \mathbb{Z}_{p} \rightarrow \mathbb{C}_{p}$, the $f . p$-a.i. of $g$ is provided (cf. [1,8,11]) as follows:

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} g(v) d \mu_{-1}(v)=\lim _{N \rightarrow \infty} \sum_{v=0}^{p^{N}-1} g(v)(-1)^{v} \tag{1}
\end{equation*}
$$

where $\mu_{-1}\left(v+p^{N} \mathbb{Z}_{p}\right)=(-1)^{v}$.
It is apparent from (1) that

$$
\begin{equation*}
\frac{1}{2} \int_{\mathbb{Z}_{p}} g(v+1) d \mu_{-1}(v)+\frac{1}{2} \int_{\mathbb{Z}_{p}} g(v) d \mu_{-1}(v)=g(0) \tag{2}
\end{equation*}
$$

By invoking (2), we easily obtain (see [11])

$$
\begin{equation*}
\frac{1}{2} \int_{\mathbb{Z}_{p}}(-1)^{v}\left(\gamma\left(e^{t}-1\right)\right)^{v} d \mu_{-1}(v)=\frac{1}{1-\gamma\left(e^{t}-1\right)}=\sum_{m=0}^{\infty} F_{m}(\gamma) \frac{t^{m}}{m!} \tag{3}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{e^{\nu t}}{2} \int_{\mathbb{Z}_{p}}(-1)^{z}\left(\gamma\left(e^{t}-1\right)\right)^{z} d \mu_{-1}(z)=\frac{1}{1-\gamma\left(e^{t}-1\right)} e^{\nu t}=\sum_{m=0}^{\infty} F_{m}(v ; \gamma) \frac{t^{m}}{m!}, \tag{4}
\end{equation*}
$$

where $F_{m}(\gamma)$ and $F_{m}(v ; \gamma)$ are the Fubini polynomials (also known as the geometric polynomials or the ordered Bell polynomials) and two variable Fubini polynomials, respectively. The convergences of the series (3) and (4) are $|t|<|\log | 1+\gamma^{-1}| |$ for $\gamma \neq 1$ and $|t|<\log 2$ for $\gamma=1$. If $\gamma=1, F_{m}:=F_{m}(0)$ are termed the Fubini numbers, which enumerates the ordered partitions of the set $[n]=1,2, \ldots, n$, (cf. [2,5,11,13,15,16,18]). Fubini polynomials and numbers (with several extensions) have been studied and analyzed comprehensively in recent years, cf. [2,5,11,15,18] and see also the references cited therein. In [5], new second-order non-linear recursive polynomials have been defined, and then these recursive polynomials, the properties of the power series, and the combinatorial methods have been used to prove some identities involving the Fubini polynomials, Euler polynomials, and Euler numbers. In [11], the generating function of $\omega$-torsion Fubini polynomials has been considered by means of a fermionic $p$-adic integral on $\mathbb{Z}_{p}$ and then, some new symmetric identities for these polynomials have been investigated. Moreover, in [15], the computational problem of one-kind symmetric sums involving Fubini polynomials and Euler numbers has been studied by utilizing elementary methods and the recursive properties of a special sequence, and also, an interesting computational formula has been obtained.

Let $t, \lambda \in \mathbb{Z}_{p}$ with $|\lambda t|_{p}<p^{-\frac{1}{p-1}}$. The degenerate exponential function is provided for $\lambda \in \mathbb{R}$ as follows (cf. [2,12,13,16,18,19])

$$
\begin{equation*}
e_{\lambda}^{v}(t)=(1+\lambda t)^{\frac{v}{\lambda}} \text { with } e_{\lambda}(t)=e_{\lambda}^{1}(t)=(1+\lambda t)^{\frac{1}{\lambda}} \tag{5}
\end{equation*}
$$

The series representations of the function $e_{\lambda}^{v}(t)$ are presented as follows:

$$
\begin{equation*}
e_{\lambda}^{v}(t)=\sum_{m=0}^{\infty}(v)_{m, \lambda} \frac{t^{m}}{m!} \tag{6}
\end{equation*}
$$

where $(v)_{m, \lambda}:=(v-(m-1) \lambda)(v-(m-2) \lambda) \cdots(v-2 \lambda)(v-\lambda) v$ for $m>0$ and $(v)_{0, \lambda}:=1$.
For $k \geq 0$, the degenerate Stirling numbers of the second kind $[13,19]$ are provided by

$$
\begin{equation*}
k!\sum_{j=k}^{\infty} S_{2, \lambda}(j, k) \frac{t^{j}}{j!}=\left(e_{\lambda}(t)-1\right)^{k} \tag{7}
\end{equation*}
$$

We compute from (7) that (cf. [19])

$$
\begin{equation*}
S_{2, \lambda}(j, k)=\frac{1}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l}(l)_{j, \lambda} \tag{8}
\end{equation*}
$$

It is obvious that (see $[10,13,19]$ )

$$
\lim _{\lambda \rightarrow 0} S_{2, \lambda}(j, k)=S_{2}(j, k),
$$

which are the usual Stirling numbers of the second kind. In combinatorics, the Stirling numbers of the second kind count the number of ways in which $n$-distinguishable objects can be partitioned into $k$ indistinguishable subsets when each subset has to contain at least one object, cf. $[10,13,19]$. Recently, degenerate and probabilistic forms of the Stirling numbers of the second kind have been studied, and many properties and applications have been investigated, cf. [13,19] and see also the references cited therein. In [19], the degenerate Stirling polynomials of the second kind have been considered by their generating function, and some new identities for these polynomials have been analyzed. In [13], the probabilistic degenerate Stirling polynomials of the second kind associated with $Y$ have been introduced, and some properties, explicit expressions, and certain identities for those polynomials have been derived.

It can be observed that

$$
F_{m}(\gamma)=\sum_{k=0}^{m} k!S_{2}(m, k) \gamma^{k} \text { and } F_{m}=\sum_{k=0}^{m} k!S_{2}(m, k)
$$

The $t . w . d$. Fubini polynomials $F_{m, \lambda}(v ; \gamma)$ are defined as follows (see $[2,18]$ ):

$$
\begin{equation*}
\frac{1}{1-\gamma\left(e_{\lambda}(t)-1\right)} e_{\lambda}^{v}(t)=\sum_{m=0}^{\infty} F_{m, \lambda}(v ; \gamma) \frac{t^{m}}{m!} \tag{9}
\end{equation*}
$$

If $v=0, F_{m, \lambda}(\gamma):=F_{m, \lambda}(0 ; \gamma)$ and $F_{m, \lambda}(1):=F_{m, \lambda}(0 ; 1)$ are termed the degenerate Fubini polynomials and the degenerate Fubini numbers, respectively. In [18], two variable degenerate Fubini polynomials have been first defined and some of their properties, explicit formulas, and recurrence relations have been examined extensively. Also, in [2], two variable higher-order degenerate Fubini polynomials have been considered by utilizing umbral calculus and then, several recurrence relations, explicit formulas, and some correlations, including some families of special functions, have been derived.

Using (2), we give the f.p-a.i. representations of the $F_{m, \lambda}(\gamma)$ and $F_{m, \lambda}(v ; \gamma)$ as follows:

$$
\begin{equation*}
\frac{1}{2} \int_{\mathbb{Z}_{p}}(-1)^{v}\left(\gamma\left(e_{\lambda}(t)-1\right)\right)^{v} d \mu_{-1}(v)=\frac{1}{1-\gamma\left(e_{\lambda}(t)-1\right)}=\sum_{m=0}^{\infty} F_{m, \lambda}(\gamma) \frac{t^{m}}{m!} \tag{10}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{e_{\lambda}^{v}(t)}{2} \int_{\mathbb{Z}_{p}}(-1)^{z}\left(\gamma\left(e_{\lambda}(t)-1\right)\right)^{z} d \mu_{-1}(z)=\frac{e_{\lambda}^{v}(t)}{1-\gamma\left(e_{\lambda}(t)-1\right)}=\sum_{m=0}^{\infty} F_{m, \lambda}(v ; \gamma) \frac{t^{m}}{m!} \tag{11}
\end{equation*}
$$

From (6), (10) and (11), we observe that

$$
\begin{equation*}
\sum_{l=0}^{m}\binom{m}{l} F_{m-l, \lambda}(\gamma)(v)_{l, \lambda}=F_{m, \lambda}(v ; \gamma) \quad(m \geq 0) \tag{12}
\end{equation*}
$$

The forward difference operator $\Delta$ is defined by $\Delta g(v)=g(v+1)-g(v)$ and $\Delta^{i}=\Delta^{i-1} \Delta$ for $i \in \mathbb{N}$. From this, we see that (cf. [13])

$$
\Delta^{k} g(v)=\sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} g(v+l),(k \geq 0)
$$

Therefore, we obtain that

$$
\Delta^{k}(\gamma)_{n, \lambda}=\sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l}(\gamma+l)_{n, \lambda},(k \geq 0)
$$

and

$$
\begin{equation*}
\Delta^{k}(0)_{n, \lambda}=\sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l}(l)_{n, \lambda,}(k \geq 0) \tag{13}
\end{equation*}
$$

Hence, it is observed from (8) and (13) that (cf. [13])

$$
\begin{equation*}
\Delta^{n}(0)_{m, \lambda}=\frac{1}{n!} S_{2, \lambda}(m, n) \tag{14}
\end{equation*}
$$

Using (13), it is also examined that

$$
\begin{align*}
\frac{1-\gamma^{k}\left(e_{\lambda}(t)-1\right)^{k}}{1-\gamma\left(e_{\lambda}(t)-1\right)} & =\sum_{i=0}^{k-1} \gamma^{i}\left(e_{\lambda}(t)-1\right)^{i}=\sum_{i=0}^{k-1} \sum_{l=0}^{i}\binom{i}{l}(-1)^{l-i} \gamma^{i} e_{\lambda}^{l}(t) \\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{k-1} \sum_{l=0}^{i}\binom{i}{l}(-1)^{l-i} \gamma^{i}(l)_{m, \lambda}\right) \frac{t^{m}}{m!}  \tag{15}\\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{k-1} \gamma^{i} \Delta^{i}(0)_{m, \lambda}\right) \frac{t^{m}}{m!} .
\end{align*}
$$

It can be observed that

$$
F_{m, \lambda}(\gamma)=\sum_{k=0}^{m} k!S_{2, \lambda}(m, k)(\gamma)_{k, \lambda} \text { and } F_{m, \lambda}=\sum_{k=0}^{m} k!S_{2, \lambda}(m, k)(1)_{k, \lambda}
$$

## 2. Main Results

In this section, we consider t.w.d. w-torsion Fubini polynomials in terms of their exponential generating function and a $f . p$-a.i. representation on $\mathbb{Z}_{p}$ and investigate multifarious formulas and identities of the mentioned polynomials. We begin with our main definition.

Definition 1. Let $w \in \mathbb{N}$. We define the t.w.d. w-torsion Fubini polynomials as follows:

$$
\begin{equation*}
\frac{1}{1-\gamma^{w}\left(e_{\lambda}(t)-1\right)^{w}} e_{\lambda}^{v}(t)=\sum_{m=0}^{\infty} F_{m, w}(\nu ; \gamma \mid \lambda) \frac{t^{m}}{m!} \tag{16}
\end{equation*}
$$

Remark 1. In some special cases, $F_{m, w}(\gamma \mid \lambda):=F_{m, w}(0 ; \gamma \mid \lambda)$ and $F_{m, w}(1 \mid \lambda):=F_{m, w}(0 ; 1 \mid \lambda)$ are called the degenerate $w$-torsion Fubini polynomials and numbers, respectively.

Remark 2. Upon setting $w=1$ in (16), the polynomials $F_{m, w}(v ; \gamma \mid \lambda)$ become the usual t.w.d. Fubini polynomials $F_{m}(v ; \gamma \mid \lambda)$ in (11).

Remark 3. By letting $w=1$ and $\lambda \rightarrow 0$ in (16), the polynomials $F_{m, w}(\nu ; \gamma \mid \lambda)$ become the familiar two-variable Fubini polynomials $F_{m}(v ; \gamma)$ in (4).

Similar to (10) and (11), for $w \in \mathbb{N}$, the f.p-a.i. representations of the polynomials $F_{m, w}(v ; \gamma \mid \lambda)$ and $F_{m, w}(v ; \gamma \mid \lambda)$ are provided by

$$
\begin{equation*}
\sum_{m=0}^{\infty} F_{m, w}(\gamma \mid \lambda) \frac{t^{m}}{m!}=\frac{1}{1-\gamma^{w}\left(e_{\lambda}(t)-1\right)^{w}}=\frac{1}{2} \int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w} \gamma^{w}\right)^{v} d \mu_{-1}(v) \tag{17}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{m=0}^{\infty} F_{m, w}(v ; \gamma \mid \lambda) \frac{t^{m}}{m!}=\frac{e_{\lambda}^{v}(t)}{2} \int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w} \gamma^{w}\right)^{v} d \mu_{-1}(v) \tag{18}
\end{equation*}
$$

respectively. Using (14) and (15), it can be derived from (10) and (17) that

$$
\begin{align*}
\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right) \gamma\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v)} & =\frac{1-\gamma^{w_{1}}\left(e_{\lambda}(t)-1\right)_{1}^{w}}{1-\gamma\left(e_{\lambda}(t)-1\right)}=\sum_{i=0}^{w_{1}-1}\left(e_{\lambda}(t)-1\right)^{i} \gamma^{i} \\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{1}-1} \Delta^{i}(0)_{m, \lambda} \gamma^{i}\right) \frac{t^{m}}{m!}\left(w_{1} \in \mathbb{N}\right)  \tag{19}\\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{1}-1} S_{2, \lambda}(m, i) \gamma^{i} i!\right) \frac{t^{m}}{m!} .
\end{align*}
$$

Theorem 1. The following identity

$$
\begin{align*}
& \sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{1}-1} \gamma^{w_{2} i} \Delta^{w_{2} i}(0)_{u, \lambda} F_{m-u, w_{1}}(\gamma \mid \lambda)  \tag{20}\\
= & \sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{2}-1} \gamma^{w_{1} i} \Delta^{w_{1} i}(0)_{u, \lambda} F_{m-u, w_{2}}(\gamma \mid \lambda)
\end{align*}
$$

holds for $m \geq 0$, and $w_{1}, w_{2}$ are two odd numbers.
Proof. For $w_{1}, w_{2} \in \mathbb{N}$, we consider

$$
\begin{equation*}
I=\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{\nu_{1}} d \mu_{-1}\left(v_{1}\right) \int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}\right)^{v_{2}} d \mu_{-1}\left(v_{2}\right)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)} \tag{21}
\end{equation*}
$$

which is invariant under the interchange of $w_{1}$ and $w_{2}$. Then, using (21), we obtain

$$
\begin{equation*}
I=\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v) \times\left(\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)}\right) \tag{22}
\end{equation*}
$$

First, using (14) and (15), we observe that

$$
\begin{align*}
\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)} & =\frac{1-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}}{1-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}} \\
& =\sum_{i=0}^{w_{1}-1}\left(e_{\lambda}(t)-1\right)^{w_{2} i} \gamma^{w_{2} i} \\
& =\sum_{i=0}^{w_{1}-1} \sum_{l=0}^{w_{2} i}\binom{w_{2} i}{l}(-1)^{w_{2} i-l} e_{\lambda}^{l}(t) \gamma^{w_{2} i}  \tag{23}\\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{1}-1} \gamma^{w_{2} i} \Delta^{w_{2} i}(0)_{m, \lambda}\right) \frac{t^{m}}{m!} \\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{1}-1} \gamma^{w_{2} i}\left(w_{2} i\right)!S_{2, \lambda}\left(m, w_{2} i\right)\right) \frac{t^{m}}{m!}
\end{align*}
$$

It can be discovered from (22) and (23) that

$$
\begin{align*}
I & =\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v) \times\left(\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)}\right) \\
& =\left(\sum_{m=0}^{\infty} 2 F_{m, w_{1}}(\gamma \mid \lambda) \frac{t^{m}}{m!}\right)\left(\sum_{u=0}^{\infty}\left(\sum_{i=0}^{w_{1}-1} \gamma^{w_{2} i} \Delta^{w_{2} i}(0)_{u, \lambda}\right) \frac{t^{u}}{u!}\right)  \tag{24}\\
& =\sum_{m=0}^{\infty}\left(2 \sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{1}-1} \gamma^{w_{2} i} \Delta^{w_{2} i}(0)_{u, \lambda} F_{m-u, w_{1}}(\gamma \mid \lambda)\right) \frac{t^{m}}{m!} .
\end{align*}
$$

Interchanging the roles of $w_{1}$ and $w_{2}$, using (21), we obtain

$$
\begin{equation*}
I=\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}\right)^{v} d \mu_{-1}(v) \times\left(\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)}\right) \tag{25}
\end{equation*}
$$

Similar to the computations in (23), we obtain that

$$
\begin{equation*}
\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)}=\sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{2}-1} \gamma^{w_{1} i}\left(w_{1} i\right)!S_{2, \lambda}\left(m, w_{1} i\right)\right) \frac{t^{m}}{m!} \tag{26}
\end{equation*}
$$

Utilizing similar computations in (24), we discover from (25) and (26) that

$$
\begin{equation*}
I=\sum_{m=0}^{\infty}\left(2 \sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{2}-1} \gamma^{w_{1} i} \Delta^{w_{1} i}(0)_{u, \lambda} F_{m-u, w_{2}}(\gamma \mid \lambda)\right) \frac{t^{m}}{m!} \tag{27}
\end{equation*}
$$

So, the proof is completed as a result of the computations (24) and (27).
Corollary 1. By Theorem 1 and Equation (14), the following relation

$$
\begin{align*}
& \sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{1}-1} \gamma^{w_{2} i}\left(w_{2} i\right)!S_{2, \lambda}\left(m, w_{2} i\right) F_{m-u, w_{1}}(\gamma \mid \lambda) \\
= & \sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{2}-1} \gamma^{w_{1} i}\left(w_{1} i\right)!S_{2, \lambda}\left(m, w_{1} i\right) F_{m-u, w_{2}}(\gamma \mid \lambda) \tag{28}
\end{align*}
$$

is true for $m \geq 0$, and $w_{1}, w_{2}$ being two odd numbers.
In particular, $w_{1}=1$ in (20) and (28), we obtain the formulas in Remarks 4 and 5.

Remark 4. The following summation formula holds for $m \geq 0$ :

$$
\begin{equation*}
F_{m}(\gamma \mid \lambda)=\sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{2}-1} \gamma^{i} \Delta^{i}(0)_{u, \lambda} F_{m-u, w_{2}}(\gamma \mid \lambda) \tag{29}
\end{equation*}
$$

Remark 5. The following summation formula holds for $m \geq 0$ :

$$
\begin{equation*}
F_{m}(\gamma \mid \lambda)=\sum_{u=0}^{m}\binom{m}{u} \sum_{i=0}^{w_{2}-1} \gamma^{i} i!S_{2, \lambda}(m, i) F_{m-u, w_{2}}(\gamma \mid \lambda) . \tag{30}
\end{equation*}
$$

We give the following symmetric relation.
Theorem 2. The following identity

$$
\begin{align*}
& \sum_{i=0}^{w_{1}-1} \sum_{l=0}^{w_{2} i}\binom{w_{2} i}{l} \gamma^{w_{2} i}(-1)^{l} F_{m, w_{1}}\left(w_{2} i-l, \gamma \mid \lambda\right)  \tag{31}\\
= & \sum_{i=0}^{w_{2}-1} \sum_{l=0}^{w_{1} i}\binom{w_{1} i}{l} \gamma^{w_{1} i}(-1)^{l} F_{m, w_{2}}\left(w_{1} i-l, \gamma \mid \lambda\right)
\end{align*}
$$

holds for $m \geq 0$, and $w_{1}, w_{2}$ being two odd numbers.
Proof. It can be computed from (21) that

$$
\begin{align*}
I & =\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v) \times\left(\frac{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}\right)^{v} d \mu_{-1}(v)}{\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}\right)^{v} d \mu_{-1}(v)}\right) \\
& =\left(\int_{\mathbb{Z}_{p}}\left(-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}\right)^{v} d \mu_{-1}(v)\right) \times\left(\frac{1-\left(e_{\lambda}(t)-1\right)^{w_{1} w_{2}} \gamma^{w_{1} w_{2}}}{1-\left(e_{\lambda}(t)-1\right)^{w_{2}} \gamma^{w_{2}}}\right) \\
& =\left(\sum_{i=0}^{w_{1}-1}\left(e_{\lambda}(t)-1\right)^{w_{2} i} \gamma^{w_{2} i}\right) \times\left(\frac{2}{1-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}}\right)  \tag{32}\\
& =\sum_{i=0}^{w_{1}-1} \sum_{l=0}^{w_{2} i}\binom{w_{2} i}{l} \gamma^{w_{2} i}(-1)^{l} \frac{2 e_{\lambda}^{w_{2} i-l}(t)}{1-\left(e_{\lambda}(t)-1\right)^{w_{1}} \gamma^{w_{1}}} \\
& =2 \sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{1}-1} \sum_{l=0}^{w_{2} i}\binom{w_{2} i}{l} \gamma^{w_{2} i}(-1)^{l} F_{m, w_{1}}\left(w_{2} i-l, \gamma \mid \lambda\right)\right) \frac{t^{m}}{m!} .
\end{align*}
$$

Similar to the computations in (32), by interchanging the roles of $w_{1}$ and $w_{2}$, we obtain from (24) that

$$
\begin{equation*}
I=2 \sum_{m=0}^{\infty}\left(\sum_{i=0}^{w_{2}-1} \sum_{l=0}^{w_{1} i}\binom{w_{1} i}{l} \gamma^{w_{1} i}(-1)^{l} F_{m, w_{2}}\left(w_{1} i-l, \gamma \mid \lambda\right)\right) \frac{t^{m}}{m!} . \tag{33}
\end{equation*}
$$

So, the proof is completed as a result of the computations (32) and (33).
On taking $w_{1}=1$ in (31), we obtain the following remark.
Remark 6. The following summation formula holds for $m \geq 0$ :

$$
\begin{equation*}
F_{m}(\gamma \mid \lambda)=\sum_{i=0}^{w_{2}-1} \sum_{l=0}^{i}\binom{i}{l} \gamma^{i}(-1)^{l} F_{m, w_{2}}(i-l, \gamma \mid \lambda) . \tag{34}
\end{equation*}
$$

Now we give the following proposition.

Proposition 1. We have the following correlation:

$$
\begin{equation*}
F_{n, w}(v ; \gamma \mid \lambda)=\sum_{j=0}^{n} \sum_{k=0}^{j}\binom{n}{j}(k w)!\gamma^{k w}(v)_{n-j, \lambda} S_{2, \lambda}(j, k w) . \tag{35}
\end{equation*}
$$

Proof. We observe from (7) and (16) that

$$
\begin{aligned}
\sum_{n=0}^{\infty} F_{n, w}(v ; \gamma \mid \lambda) \frac{t^{n}}{n!} & =\frac{1}{1-\gamma^{w}\left(e_{\lambda}(t)-1\right)^{w}} e_{\lambda}^{v}(t) \\
& =\sum_{k=0}^{\infty} \gamma^{k w} e_{\lambda}^{v}(t)\left(e_{\lambda}(t)-1\right)^{k w} \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \gamma^{k w}(v)_{n, \lambda} \frac{t^{n}}{n!}(k w)!\sum_{j=k w}^{\infty} S_{2, \lambda}(j, k w) \frac{t^{j}}{j!} \\
& =\sum_{n=0}^{\infty} \sum_{j=0}^{n} \sum_{k=0}^{j}\binom{n}{j}(k w)!\gamma^{k w}(v)_{n-j, \lambda} S_{2, \lambda}(j, k w) \frac{t^{n}}{n!},
\end{aligned}
$$

which completes the proof of the theorem.
Corollary 2. By Theorem 2 and Equation (35), the following relation

$$
\begin{aligned}
& \quad \sum_{i=0}^{w_{1}-1} \sum_{l=0}^{w_{2} i} \sum_{j=0}^{m} \sum_{k=0}^{j}\binom{w_{2} i}{l}\binom{m}{j} \gamma^{k w_{1}+w_{2} i} \\
& \quad \times(-1)^{l}\left(k w_{1}\right)!\left(w_{2} i-l\right)_{m-j, \lambda} S_{2, \lambda}\left(j, k w_{1}\right) \\
& =\sum_{i=0}^{w_{2}-1} \sum_{l=0}^{w_{1} i} \sum_{j=0}^{m} \sum_{k=0}^{j}\binom{w_{1} i}{l}\binom{m}{j} \gamma^{k w_{2}+w_{1} i} \\
& \quad \times(-1)^{l}\left(k w_{2}\right)!\left(w_{1} i-l\right)_{m-j, \lambda} S_{2, \lambda}\left(j, k w_{2}\right)
\end{aligned}
$$

is true for $m \geq 0$, and $w_{1}, w_{2}$ are two odd numbers.

## 3. Further Remarks

We now aim to derive more symmetric identities for the t.w.d. w-torsion Fubini polynomials. Here are some symmetric identities for t.w.d. w-torsion Fubini polynomials utilizing some series manipulation methods.

Theorem 3. The polynomials $F_{m, w}(v ; \gamma \mid \lambda)$ fulfill the following identity for $m \in \mathbb{Z}_{\geq 0}$ and $a, b \in \mathbb{R}$ and $m \geq 0$ :

$$
\begin{align*}
& \sum_{k=0}^{m}\binom{m}{k} F_{m-k, w}(b v ; \gamma \mid b \lambda) F_{k, w}(a v ; \gamma \mid a \lambda) b^{k} a^{m-k} \\
= & \sum_{k=0}^{m}\binom{m}{k} F_{m-k, w}(a v ; \gamma \mid a \lambda) F_{k, w}(b v ; \gamma \mid b \lambda) a^{k} b^{m-k} . \tag{36}
\end{align*}
$$

Proof. We choose that

$$
\mathrm{Y}=\frac{e_{\lambda}^{2 v}(a b t)}{\left(1-\left(e_{b \lambda}(a t)-1\right)^{w} \gamma^{w}\right)\left(1-\left(e_{a \lambda}(b t)-1\right)^{w} \gamma^{w}\right)},
$$

which is symmetric in $a$ and $b$. We compute from (17) that

$$
\mathrm{Y}=\left[\sum_{m=0}^{\infty} F_{m, w}(b v ; \gamma \mid b \lambda) \frac{(a t)^{m}}{m!}\right]\left[\sum_{m=0}^{\infty} F_{m, w}(a v ; \gamma \mid a \lambda) \frac{(b t)^{m}}{m!}\right]
$$

$$
=\sum_{m=0}^{\infty}\left(\sum_{k=0}^{m}\binom{m}{k} F_{m-k, w}(b v ; \gamma \mid b \lambda) F_{k, w}(a v ; \gamma \mid a \lambda) a^{m-k} b^{k}\right) \frac{t^{m}}{m!}
$$

and in the same way

$$
\mathrm{Y}=\sum_{m=0}^{\infty}\left(\sum_{k=0}^{m}\binom{m}{k} F_{m-k, w}(a v ; \gamma \mid a \lambda) F_{k, w}(b v ; \gamma \mid b \lambda) a^{k} b^{m-k}\right) \frac{t^{m}}{m!},
$$

which means the assertion (36).
Here is another symmetric identity for $F_{m, w}(v ; \gamma \mid \lambda)$ as follows.
Theorem 4. The polynomials $F_{m, w}(v ; \gamma \mid \lambda)$ fulfill the following identity for $a, b \in \mathbb{R}$ and $m \geq 0$ :

$$
\begin{aligned}
& \sum_{k=0}^{m} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \sum_{l=0}^{i w} \sum_{s=0}^{j w}\binom{i w}{l}\binom{m}{k}\binom{j w}{s} \gamma^{w(i+j)}(-1)^{(i+j) w-l-s} \\
& \times F_{m-k, w}\left(l+s \frac{b}{a}+b v_{1} ; \gamma \mid b \lambda\right) F_{k, w}\left(a v_{2} ; \gamma \mid a \lambda\right) b^{k} a^{m-k} \\
= & \sum_{k=0}^{m} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \sum_{l=0}^{i w} \sum_{s=0}^{j w}\binom{i w}{l}\binom{m}{k}\binom{j w}{s} \gamma^{w(i+j)}(-1)^{(i+j) w-l-s} \\
& F_{k, w}\left(l+s \frac{a}{b}+a v_{1} ; \gamma \mid a \lambda\right) F_{m-k, w}\left(b v_{2} ; \gamma \mid b \lambda\right) a^{k} b^{m-k} .
\end{aligned}
$$

Proof. We consider by (17) that

$$
\begin{aligned}
\Psi= & \frac{1-\left(e_{\lambda}^{1 / b}(a b t)-1\right)^{a w} \gamma^{a w}}{\left(1-\left(e_{b \lambda}(a t)-1\right)^{w} \gamma^{w}\right)^{2}} \frac{1-\left(e_{\lambda}^{1 / a}(a b t)-1\right)^{b w} \gamma^{b w}}{\left(1-\left(e_{a \lambda}(b t)-1\right)^{w} \gamma^{w}\right)^{2}} e_{\lambda}^{v_{1}+v_{2}}(a b t) \\
= & \frac{e_{\lambda}^{v_{1}}(a b t)}{1-\left(e_{b \lambda}(a t)-1\right)^{w} \gamma^{w}} \frac{1-\left(e_{\lambda}^{1 / b}(a b t)-1\right)^{a w} \gamma^{a w}}{1-\left(e_{b \lambda}(a t)-1\right)^{w} \gamma^{w}} \\
& \times \frac{e_{\lambda}^{v_{2}}(a b t)}{1-\left(e_{a \lambda}(b t)-1\right)^{w} \gamma^{w}} \frac{1-\left(e_{\lambda}^{1 / a}(a b t)-1\right)^{b w} \gamma^{b w}}{1-\left(e_{a \lambda}(b t)-1\right)^{w} \gamma^{w}} .
\end{aligned}
$$

Therefore, we compute that

$$
\begin{aligned}
\Psi= & \frac{e_{\lambda}^{v_{1}}(a b t)}{1-\gamma^{w w}\left(e_{b \lambda}(a t)-1\right)^{w}} \frac{1-\gamma^{a w}\left(e_{\lambda}^{1 / b}(a b t)-1\right)^{a w}}{1-\gamma^{w}\left(e_{b \lambda}(a t)-1\right)^{w}} \\
& \times \frac{e_{\lambda}^{v_{2}}(a b t)}{1-\gamma^{w}\left(e_{a \lambda}(b t)-1\right)^{w}} \frac{1-\gamma^{b w}\left(e_{\lambda}^{1 / a}(a b t)-1\right)^{b w}}{1-\gamma^{w}\left(e_{a \lambda}(b t)-1\right)^{w}} \\
= & \frac{e_{\lambda}^{\nu_{1}}(a b t)}{1-\gamma^{w}\left(e_{b \lambda}(a t)-1\right)^{w}} \sum_{i=0}^{b-1} \gamma^{i w}\left(e_{b \lambda}(a t)-1\right)^{i z w} \\
& \times \frac{e_{\lambda}^{v_{2}}(a b t)}{1-\gamma^{w}\left(e_{a \lambda}(b t)-1\right)^{w}} \sum_{j=0}^{a-1} \gamma^{j w}\left(e_{a \lambda}(b t)-1\right)^{j w} \\
= & \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \gamma^{w(i+j)} \frac{1}{1-\gamma^{w}\left(e_{b \lambda}(a t)-1\right)^{w}} \sum_{l=0}^{i w}\binom{i w}{l}(-1)^{i w-l} e_{b \lambda}^{l+b v_{1}}(a t) \\
& \times \frac{1}{1-\left(e_{a \lambda}(b t)-1\right)^{w} \gamma^{w}} \sum_{s=0}^{j w}\binom{j w}{s}(-1)^{j w-s} e_{a \lambda}^{s+a v_{2}}(b t) \\
= & \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \sum_{l=0}^{i w} \sum_{s=0}^{j w}\binom{i w}{l} \gamma^{w(i+j)}\binom{j w}{s}(-1)^{(i+j) w-l-s}
\end{aligned}
$$

$$
\begin{aligned}
& \times \frac{e_{b \lambda}^{l+s \frac{b}{a}+b v_{1}}(a t)}{1-\left(e_{b \lambda}(a t)-1\right)^{w} \gamma^{w}} \frac{e_{a \lambda}^{a v_{2}}(b t)}{1-\left(e_{a \lambda}(b t)-1\right)^{w} \gamma^{w}} \\
= & \sum_{m=0}^{\infty}\left(\sum_{k=0}^{m} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \sum_{l=0}^{i w} \sum_{s=0}^{j w}\binom{m}{k}\binom{i w}{l} \gamma^{w(i+j)}\binom{j w}{s}\right. \\
& \left.(-1)^{(i+j) w-l-s} F_{m-k, w}\left(l+s \frac{b}{a}+b v_{1} ; \gamma \mid b \lambda\right) F_{k, w}\left(a v_{2} ; \gamma \mid a \lambda\right) b^{k} a^{m-k}\right) \frac{t^{m}}{m!},
\end{aligned}
$$

and similarly,

$$
\begin{aligned}
\Psi= & \sum_{m=0}^{\infty}\left(\sum_{k=0}^{m} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \sum_{l=0}^{i w} \sum_{s=0}^{j w}\binom{m}{k}\binom{i w}{l} \gamma^{w(i+j)}\binom{j w}{s}\right. \\
& \left.(-1)^{(i+j) w-l-s} F_{k, w}\left(l+s \frac{a}{b}+a v_{1} ; \gamma \mid a \lambda\right) F_{m-k, w}\left(b v_{2} ; \gamma \mid b \lambda\right) a^{k} b^{m-k}\right) \frac{t^{m}}{m!}
\end{aligned}
$$

which yields the claimed symmetric identity in the theorem.

## 4. Conclusions

After constructions of $p$-adic $q$-integrals by Teakyun Kim, a Korean mathematician, in recent years, $p$-adic $q$-integrals with some of their special cases have not only been utilized as integral representations of many special polynomials and functions but also have given the chance to deeply analyze many families of special polynomials and numbers, such as Bernoulli, Fubini, Bell and Changhee polynomials and numbers. In the presented work, we focused on a novel extension of the degenerate Fubini polynomials. We first defined the t.w.d. w-torsion Fubini polynomials by means of their exponential generating function. We then discovered a f.p-a.i. representation of the degenerate $w$-torsion Fubini polynomials, by which we attained diverse novel symmetric identities for the degenerate $w$-torsion Fubini and t.w.d. w-torsion Fubini polynomials. Finally, by using some series manipulation methods, we acquired more identities of symmetry for properties of the t.w.d. w-torsion Fubini polynomials. To the best of our knowledge, the results presented in this paper are new and do not seem to be reported in the literature. In general, these results have the potential to be used in many branches of mathematics, probability, statistics, mathematical physics, and engineering.

Author Contributions: Conceptualization, W.A.K. and U.D.; methodology, M.S.A., W.A.K. and U.D.; software, W.A.K.; validation, M.S.A., W.A.K. and U.D.; formal analysis, W.A.K. and U.D.; investigation, W.A.K. and U.D.; resources, M.S.A. and W.A.K.; data curation, W.A.K. and M.S.A.; writing-original draft preparation, W.A.K. and U.D.; writing—review and editing, M.S.A., W.A.K. and U.D.; visualization, W.A.K. and U.D.; supervision, W.A.K. and U.D.; project administration, W.A.K. and U.D.; funding acquisition, M.S.A. and W.A.K. All authors have read and agreed to the submitted version of the manuscript.
Funding: This research received no external funding.
Data Availability Statement: Data are contained within the article.
Conflicts of Interest: The authors declare no conflicts of interest.

## References

1. Kim, T. $q$-Volkenborn integration. Russ. J. Math. Phys. 2002, 9, 288-299.
2. Kim, D.S.; Jang, G.-W.; Kwon, H.-I.; Kim, T. Two variable higher-order degenerate Fubini polynomials. Proc. Jangjeon Math. Soc. 2018, 21, 5-22.
3. Agyuz, E.; Acikgoz, M.; Araci, S. A symmetric identity on the $q$-Genocchi polynomials of higher-order under third dihedral group $D_{3}$. Proc. Jangjeon Math. Soc. 2015, 18, 177-187.
4. Araci, S.; Duran, U.; Acikgoz, M. Symmetric identities involving $q$-Frobenius-Euler polynomials under Sym (5). Turkish J. Anal. Number Theory 2015, 3, 90-93. [CrossRef]
5. Chen, G.; Chen, L. Some identities involving the Fubini polynomials and Euler polynomials. Mathematics 2018, 6, 300. [CrossRef]
6. Dolgy, D.V.; Kim, T.; Rim, S.-H.; Lee, S.-H. Some symmetric identities for $h$-extension of $q$-Euler polynomials under third dihedral group $D_{3}$. Int. J. Math. Anal. 2014, 8, 2369-2374. [CrossRef]
7. Duran, U.; Acikgoz, M. Symmetric identities involving Carlitz's-type twisted $(h, q)$-tangent-type polynomials under $S_{5}$. J. New Theory 2016, 12, 51-59.
8. Kim, T. On the analogs of Euler numbers and polynomials associated with $p$-adic $q$-integralon $\mathbb{Z}_{p}$ at $q=-1$. J. Math. Anal. Appl. 2007, 331, 779-792. [CrossRef]
9. Kim, D.S.; Kim, T.; Seo, J.J. Identities of symmetry for expansions of $q$-Euler polynomials. Int. J. Math. Anal. 2014, 8, 401-407. [CrossRef]
10. Kim, T. Some identities on the $q$-Euler polynomials of higher-order and $q$-Stirling numbers by the fermionic $p$-adic invariant integral on $\mathbb{Z}_{p}$. Russ. J. Math. Phy. 2009, 16, 484-491. [CrossRef]
11. Kim, T.; Kim, D.S.; Jang, G.-W.; Kwon, J. Symmetric identities for Fubini polynomials. Symmetry 2018, 10, 219. [CrossRef]
12. Kim, T.; Dolgy, D.V.; Seo, J.J. Identities of symmetry for degenerate $q$-Euler polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 2015, 25, 577-582.
13. Kim, T.; Kim, D.S.; Kwon, J. Probabilistic degenerate Stirling polynomials of the second kind and their applications. Math. Comput. Model. Dyn. Syst. 2024, 30, 16-30. [CrossRef]
14. Simsek, Y. Explicit formulas for $p$-adic integral: Approach to $p$-adic distributions and some families of special numbers and polynomials. Montes Taurus J. Pure Appl. Math. 2019, 1, 1-76.
15. Zhao, J.H.; Chen, Z.Y. Some symmetric identities involving Fubini polynomials and Euler numbers. Symmetry 2018, 10, 359. [CrossRef]
16. Sharma, S.K.; Khan, W.A.; Araci, S.; Ahmed, S.S. New construction of type 2 of degenerate central Fubini polynomials with their certain properties. Adv. Differ. Equ. 2020, 587,1-11. [CrossRef]
17. Simsek, Y. Analysis of the $p$-adic $q$-Volkenborn integrals: An approach to generalized Apostol-type special numbers and polynomials and their applications. Cogent Math. 2016, 3, 1-17. [CrossRef]
18. Kim, T.; Kim, D.S.; Jang, G.-W. A note on degenerate Fubini polynomials. Proc. Jangjeon Math. Soc. 2017, 20, 521-531.
19. Kim, T. A note on degenerate Stirling polynomials of the second kind. Proc. Jangjeon Math. Soc. 2017, 20, 319-331.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.

